Grade 4 Mixed Bag I Word Problems

Name: Class:

Question 1

1 sheet of paper has a mass of 3 grams. What is the mass of
350 sheets of paper?

Question 2

7 chocolate bars cost $18.20. What is the price of 1 chocolate bar?

Question 3

An apple cost 2.50%. If you buy 2 apples and pay with 1,000%,
how much change will you get?

Question 4

Petra started playing with her Barbie doll at 18:30 pm. She played for 4 hours and 15
minutes. At what time did she stop playing?

Question 5 A
\¢

A blue ribbon has a length of Im50cm. A red ribbon is 4 times
longer. What is the length of the red and the blue ribbon
altogether?




Question 6

A small stone has a mass of 5kg400g. A big stone is twice as heavy.
What is the mass of the big stone?

Question 7

Peter had 1,000$. He bought a computer for 900$ and
chocolate for 100$. How much money did he have left? Q
-

Question 8

I want to make an apple pie. I need the following ingredients: 1kg of apples, 500g of sugar,
100g of cinnamon, 200g of butter and 500g of flour.
What will be the total mass of this apple pie?

Question 9

If 3 liters of milk cost 12 dollars, how much will 7 liters of

—
milk cost? ays

Question 10

The price of a motorbike is 3,501$. What is the price of this motorbike rounded off to
the nearest thousand?



Q1l:
Q2:
Q3:
Q4:
Q5:

Answers

1 kilogram and 50 grams
2.60%

995 dollars

22:45pm

7.50 meters

Q6:
Q7:
Q 8:
QY9:
Q10:

10 kg 800 g

0 dollars/ nothing
2 kg 300 g

28 dollars

4,000 dollars



